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1+ 11.000 0.0 12.0 0.0
2 + 0000 9.000 0.7 0.35 3.2 26.1 19.05 1715 0.0
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2+ 5000 5.000 1.06 1.390 6.95 1.86 1,530 7.65
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H=3.30m
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0 -7.140 0.0
0 0.000 7.140 0.0 0.9
0 10.000 10.320 0.0 0.9 0.90 9.3
1 0.000 10.140 0.4 0.20 20
1 10.000 10.000 3.4 1.90 19.0
1 13.760 3.760 3.4 3.40 12.8
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NO. a b c S &
1 3. 850 5. 000 3. 000 5. 9250 5. 767
2 5. 000 4.000 3.550 6. 2750 7.043
3 3.550 4. 200 3.000 5. 3750 5. 232
4 4.200 2. 500 3.300 5. 0000 4.123
5 3. 300 4.150 2.500 4.9750 4.125
6 4.150 3.000 3.000 5. 0750 4. 496
! 3.000 3. 400 1.450 3. 9250 2.172
8 3. 400 1.500 3.000 3. 9500 2. 249
o 3.000 4.350 3.000 5. 1750 4.494

10 4.350 3.000 3. 050 5. 2000 4.572
1 3.050 4.500 3. 500 5. 5250 5.328
12 4.500 3.000 3. 000 5. 2500 4. 465
13 3.000 4.000 2. 500 4. 7500 3.745
14 4,000 2. 500 3.000 4. 7500 3.745
15 3.000 3. 550 1.900 4.2250 2. 850
16 3.550 1. 650 3.000 4.1000 2. 465
17 3.000 3. 850 2.500 4.6750 3.748
18 3.850 1.500 3.100 4.2250 2.204
19 3.100 4.650 3.000 5. 3750 4.589
20 4.650 3.000 3.000 5. 3250 4. 408
21 3.000 4.100 2.500 4.8000 3.730
22 4.100 3.000 3. 050 5. 0750 4.560
23 3.050 3.850 2. 900 4..9000 4.363
24 3.850 2.300 3. 000 4.5750 3.447
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HE Al
pil = BB | B Om | FHNE | B 2 B @ | THMNE | & E FEHYEmE = ¥
(m) (m2) (m2) (m3) (m2) (m2) (m3)

0 - 2600 0.5

0 + 0.000 35.700 0.5 0.50 17.9

0 + 10.000 10.000 0.5 0.50 5.0

1+ 0.000 10.000 1.1 0.80 8.0

1+ 10.000 10.500 1.1 1.10 11.6

2 + 0.000 9.800 1.1 1.10 10.8

2 + 5000 5.000 1.1 1.10 5.5

2 + 8.000 3.000 1.1 1.10 3.3

2 + 11.000 3.000 1.2 1.15 3.5

2 + 14.300 3.400 1.2 1.20 4.1

2 + 17.000 0.5

3 + 0.000 2.700 0.5 0.50 1.4

3 + 17.200 17.100 0.5 0.50 8.6

& g 110.200 79.410
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pil = BB | W OE | THENE | & = B @ | THMNE | & E FEHYEmE = i
(m) (m) (m) (m2) (m) (m) (m2)

0 - 2600 3.00 3.00

0 + 0.000 35.700 3.00 3.000 107.10 3.00 3.000 107.10
0 + 10.000 10.000 3.00 3.000 30.00 3.00 3.000 30.00
1+ 0.000 10.000 3.85 3.425 34.25 3.74 3.370 33.70
1+ 10.000 10.500 3.85 3.850 4043 3.74 3.740 39.27
2 + 0.000 9.800 3.60 3.725 36.51 3.49 3.615 35.43
2 + 5000 5.000 3.83 3.715 18.58 3.72 3.605 18.03
2 + 8.000 3.000 3.87 3.850 11.55 3.73 3.725 11.18
2 + 11.000 3.000 4.14 4.005 12.02 4.01 3.870 11.61
2 + 14.300 3.400 4.14 4.140 14.08 4.01 4.010 13.63
2 + 17.000 3.00 3.00

3 + 0.000 2.700 3.00 3.00 8.1 3.00 3.000 8.10
3 + 17.200 17.100 3.00 3.00 51.3 3.00 3.000 51.30
& g 110.200 363.90 359.34




